MAG FORGE M100R
MAG FORGE M100A

PC Case

User Guide
R F

Manuel d’utilisation



Francais




MAG FORGE M100R
MAG FORGE M100A

PC Case

User Guide



Contents

ACCESSOTMIES ... 3
Specification

£aS@ FRATUMES ... 7
Side & FrONt VIEW ..ot 8
10 PANELcc e 9
SSD & HDD INStAllation ......eeceiiiiiciiiiiecsie e 10

Opening the Left & Right Side Cover

Motherboard Installation..........cccocoiiiiiiiii e 13
Graphics Card INStallation ..o 14
PSU INSTALlation ....c.ccuiiciiiic s 15
Control Board SpecifiCation.........c.iciiiiiiieeiiees e 16

ARGB Fan CoNNECHION ....iiuiiiieii ittt 17



Accessories

Name / Q’ty

Used for

—

Cable ties
x5

Cable management

|: NSNS ]}]

PCle slot covers
X2

PCI slot protection

(Only for MAG FORGE M100R)

1to 4 fan splitter cable
x1

Connecting 4 fans

Fan screws
X2

Front 120/140mm fan

Screw #6-32 10mm
x2

Securing drive tray

Screw #6-32 6.5mm
X4

Motherboard stud

Screw #6-32 6mm
x6

PSU / PCle card




Name / Q’ty Used for

Screw #6-32 5mm

" 3.5"HDD
Screw M3 5mm Motherboard / SSD
x17
Screw #6-32 4mm 35" HDD

x3




Specification

Micro ATX Tower

1 to 6 ARGB (3 pin) Control Board (MAG FORGE M100R)

an LED Controlle

MAG FORGE M100R
Front: 3 x 120mm ARGB fan
Rear: 1 x 120 mm ARGB fan

MAG FORGE M100A
Front: 3 x 120mm Auto RGB fan
Rear: 1 x 120 mm Auto RGB fan

Chassis: Steel (SPCC 0.4/0.45 mm)
Front Bezel: Plastic + Mesh
Right Side Panel: Steel

MAG FORGE M100R
Left Side Panel: Tempered glass

Pre-Installed Fan
MAG FORGE M100A

Material
Left Side Panel: Transparent acrylic

. Top: Magnetic frame dust filter PVC mesh
DESLRILSIE Bottom dust filter

Top: 2x 120 mm
Fan Support Front: 3 x 120 mm
Rear: 1x 120 mm

Drive Bays 2 x2.5" SSD mounting brackets
Y 2x3.5" HDD trays

Expansion Slots Supports 4 expansion slots

1 x Power button

1 x Reset button

1 x Power indicator

1x Mic-in

1 x Audio-out

2x USB 2.0 Type-A

2x USB 3.2 Gen1 Type-A

1 x LED switch button

(The LED switch function is only applicable to the MAG FORGE
M100R.)

10 Panel




Top: 120/ 240 mm
Radiator Support Front: 120 / 240 mm
Rear: 120 mm

CPU Cooler Height: Max 160mm (6.3 inch)

Graphics Card Length: Max 300 mm (11.81 inch)

PSU Length: ATX 180mm (7.09 inch)

Max 300 mm (11.81 inch] without 3.5 HDD tray installed

Clearance

Case Dimensions 388(D) x 200(W) x 423(H) mm
15.28(D) x 7.87(W) x 16.65(H) inch

Motherboard Suppo M-ATX /ITX




Case Features




Side & Front View

388mm

200mm

373mm

wwezy



Audio-out

USB 2.0 Type-A

USB 3.2 Gen 1 Type-A
LED switch button

Power button
Reset button

Power indicator

Eal
® N oo

Mic-in

LED switch control description:

1. Short press the LED switch once to switch the LED effect.

2. The LED will flash white once when you press and hold the LED switch for 3
seconds, and then the MSI motherboard Mystic Light synchronization mode will be
enabled. Short press once to return the Hub control mode.

3. To turn off the LED, press and hold the LED switch for 6 seconds.

AN

The LED switch function is only applicable to the MAG FORGE M100R.



SSD & HDD Installation




Opening the Left & Right Side Cover

MAG FORGE M100R




MAG FORGE M100A




Motherboard Installation




Graphics Card Installation




PSU Installation




Control Board Specification

Connectors

LED Effects
(1 short press the
LED switch)

Support LED Type DC5V Addressable RGB LED

1x LED switch connector

1x SATA power connector

1x MSI motherboard JRAINBOW connector
6x 3-pin ARGB LED connectors

Ground Data +5V

LED effect cycle:
1. Rainbow

2. Seven-color trailing
3. Seven-color gradient
4. Violet

5. White

6. Blue

7. Cyan

8. Green

9. Yellow

10. Red

11. Rainbow breathing
12. Red breathing

13. Yellow breathing
14. Green breathing
15. Cyan breathing
16. Blue breathing

17. White breathing
18. Violet breathing
19. Fixed rainbow

20. Red

21. Yellow

22. Green

23. Cyan

24. Blue

25. White

26. Violet




ARGB Fan Connection (Only for MAG FORGE M100R)

ARGB Fan ARGB Fan ARGB Fan

G
{

=1

Connect to the
MSI motherboard
JRAINBOW connector

1to 6 ARGB
Control Board

LED Switch

=ImE * SATA Power

=)\ A

ARGB Fan ARGB Fan ARGB Fan

SYS_FAN

@ Note

e This LED Hub can support up to 10 MSI devices or é non-MS| devices.

e Each port can support a maximum of 64 ARGB LEDs, with a total of no more than
128 LEDs.

e Exceeding these limits may cause ARGB LEDs to display abnormal colors,
flicker, or be unable to change colors.




MAG FORGE M100R
MAG FORGE M100A

PC Case

User Guide

£ R FH



Contents / B %

Accessories /BB ... 3
Specification / BERRRRRG .....ovveeeeieeeeee s 5
Case Features / BERRAFE ..ot 7
Side & Front View/ IEIFIATE...........ccoorrveeeimeeeeeeesseeseeseeeeeeseesse oo 8

10 Panel / 10 &tk

SSD & HDD Installation/ SSD FIBEERZRELTTE .ooooooovvvs 10
Opening the Left & Right Side Cover/ BIRXEARINR ........cooovvviieeccreens 1
Motherboard Installation / ZREEFEHERR ...ooovvvoevoece s 13
Graphics Card Installation / ZEEBETR T ...oooovoveceeeee e 14
PSU Installation / REEBIRMEMERR .......coooooureecreecreeee s 15
Control Board Specification / #ZEHIMRERE ..o 16

ARGB Fan Connection /3 ARGB JES ......o.oveeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee e 17



Accessories / Fgff

Item IEH Name &8/ Q'ty = Used for Fi&
Cable ties Cable management
] —
& RES iy
PCle slot covers .
PCl slot protection
i
Pele BTN {R3% PCle i
1to 4 fan splitter cable .
Connecting 4 fans
1 RS i 4 A
(Only for MAG FORGE M100R)
Fan screws
Front 120/140mm fan
4
Eﬁiﬁg‘ AIE 120/140mm EUS

Screw #6-32 10mm

Securing drive tray

4

TG EERER 2 2R

m Screw #6-32 6.5mm Motherboard stud
x4 FHARIRE




Item IEH Name #78 / Q'ty HE Used for Fi&

"‘ Scre"_\’_’;f’éf%"mm PSU / PCle card
) a w EIR{HMESR / PCle £

Screw #6-32 5mm "
3.5" HDD
g 4

([m Screw M3 5mm Motherboard / SSD
x17 FHAR / SSD

Screw #6-32 4mm

3.5" HDD
@ [ EEE&%&%?LE% a5 B




Specification / BRI

LR LED IR

Pre-Installed Fan

FA%ER

Material

L)

Dust Filters

FhEEidAE

Fan Support
XERR

Drive Bays

R

Expa n Slots
&

10 Panel
10 ER

Micro ATX Tower

1to 6 ARGB (3 pin) Control Board (MAG FORGE M100R)

MAG FORGE M100R
Front: 3 x 120mm ARGB fan ( ARGB &S )
Rear: 1 x 120 mm ARGB fan  ARGB & )

MAG FORGE M100A
Front: 3 x 120mm Auto RGB fan ( EIE &% RGB A )
Rear: 1x 120 mm Auto RGB fan | EIE &% RGB A )

Chassis: Steel (SPCC 0.4/0.45 mm) [ $iRIME )
Front Bezel: Plastic + Mesh ( Bi¥8fB4R + 1348 )
Right Side Panel: Steel [ {8345 )

MAG FORGE M100R
Left Side Panel: Tempered glass ( I3 {L3E )

MAG FORGE M100A
Left Side Panel: Transparent acrylic [ Z{AERBEETE 7 )

Top: Magnetic frame dust filter PVC mesh
( TEER PVC BAMEAEFAEERAE )
Bottom dust filter [ FBAEEEAE )

Top:2x 120 mm
Front: 3 x 120 mm
Rear: 1x 120 mm

2 x2.5" SSD mounting brackets (2 {8 2.5"SSD #4221 )
2x3.5" HDD trays (2 {8 3.5 FER¢iE )

Supports 4 expansion slots [ 321% 4 {E#E7EHE )

1 x Power button / EiR%iH#

1 x Reset button / EHTFAIIRR

1 x Power indicator / BiRHemIE

1 x Mic-in / EREA

1 x Audio-out / E &

2x USB 2.0 Type-A

2x USB 3.2 Gen1 Type-A

1 x LED switch button / LED % iR

(The LED switch function is only applicable to the MAG FORGE
M100R. LED tJ#INAEZE A MAG FORGE M100R © )




. Top: 120/ 240 mm
Radiator Support .
HIEKSHE Front: 120 / 240 mm

Rear: 120 mm

CPU Cooler Height(CPU B{ZAZ8=E ): Max 160mm (6.3 inch)
Clearance Graphics Card Length( BRF&RE ): Max 300 mm (11.81 inch)
= PSU Length( BIRMHEAEZRRE ): ATX 180mm (7.09 inch)

Max 300 mm (11.81 inch] without 3.5 HDD tray installed

Case Dimension: 388(D) x 200(W) x 423(H) mm
HARR~T 15.28(D) x 7.87(W) x 16.65(H) inch

M-ATX / ITX




Case Features / #3545




Side & Front View/ | E#0&#iE

200mm 388mm |
373mm

wwezy




10 Panel / 10 EtR

©00000000000000000000DO000A00000O0O0GOO
©000000000000000000000000000000D0O0ODODO

oo © O

POWER ® s} Q@

Power button / iR R . Audio-out / EREH

Reset button / EFT RIS IZEA . USB 2.0 Type-A

Power indicator / BIRfEIE . USB 3.2 Gen 1 Type-A

Mic-in / ERE#A . LED switch button / LED %R

LN~
® N o o

LED ¥28BiZHIzREA
1. 58¥% LED YRR eI )i LED 3R ©

2. R¥& LED YJthi%th 3 7088 > MBRBIE—R B > RBEAME E#HIR Mystic
Light RIFER © 58#%— IR I BISEAREITFIER o
3. K% LED Y)#ui#sh 6 FLEEOIRARA LED ©

@ Note/ ;tE

e The LED switch function is only applicable to the MAG FORGE M100R.
o LED t#ALHSE(2iE B¢ MAG FORGE M100R °



SSD & HDD Installation/ SSD FIfEHE RIS X




Opening the Left & Right Side Cover/ BIR{AE R IR

MAG FORGE M100R




MAG FORGE M100A




Motherboard Installation / 3£ £ i1k




Graphics Card Installation / RIEEETRE




TRLERR

y

PSU Installation / R&EE




Control Board Specification / ¥ 5§78

50 x 30

DC5V Addressable RGB LED

4% LED #85

1x LED switch connector (LED $%##%58 )

1x SATA power connector (SATA BRI )

= 1x MSI motherboard JRAINBOW connector [ #2 iR
1% JRAINBOW $55 )

6x 3-pin ARGB LED connectors (3 # ARGB LED #%88 )

Connectors

ARGB Pin Definition

ARGB #HIES

Ground Data +5V

LED effect cycle: LED MRBIR:

1. Rainbow 1. T

2. Seven-color trailing 2. tEBiER

3. Seven-color gradient 3. @S

4. Violet 4ORE

5. White 5. 808

6. Blue 6. EE

7. Cyan 7.5

8. Green 8. &8

9. Yellow 9. &

10. Red 10. 4168
LED Effects 11. Rainbow breathing 1. FATIFIR
(1 short press the 12. Red breathing 12, ATEIFIR
LED switch) 13. Yellow breathing 13. IR

14. Green breathing 4. 43 EBIEIR
LE_D i 15. Cyan breathing 15. 5 BIER
(#3#% LED #8 ) 16. Blue breathing 16, EEIFR

17. White breathing 17. B &M

18. Violet breathing 18. REBIEIR

19. Fixed rainbow 19. BIERAL

20. Red 20. 418

21. Yellow 21 &

22. Green 22. 4B

23. Cyan 23. 56

24. Blue 24, BEEB

25. White 25. A&

26. Violet 26. R




ARGB Fan Connection / i£i% ARGB 3 (f£374% MAG FORGE M100R)

ARGB Fan ARGB Fan ARGB Fan
ARGB AR ARGB & ARGB RS

=) =Y )
VO

Connect to the MSI
motherboard
JRAINBOW connector
BT E TR
JRAINBOW #%58

1to 6 ARGB
%{l Control Board
1%$6 ARGB 2R

LED Switch
LED #%$#

- ! SATA Power
| ||f]= SATA &R

t

ARGB Fan ARGB Fan ARGB Fan
ARGB A ARGB AR ARGB AF

o Itf LED Hub R ZA]321% 10 8 MSI #& 38 6 fEFF MS| 458 ©
o BIBRALIE 64 88 ARGB LED > AEFI A8 128 28 -
o EBHRHIATTSES #E ARGB LED £ Pl - X EHGEEESEY o




MAG FORGE M100R
MAG FORGE M100A

Boitier PC

Guide d'utilisation



Table des matiéres

ACCESSOIMES ...t 3
CaraCteriSTIGUES ...ttt 5
Caractéristiques dU DOTtIEI....... oo 7
Vue de face et A8 COT ...t 8
PANNEAU E/S .ttt 9
Installation du SSD et du disque dur...........cccoiiiiiiiiiiiicc 10
Ouverture du couvercle latéral gauche et droit........ccocoovioeieiiioeniiiiecce e "
Installation de la Carte MEIe .......ciiiiii s 13
Installation de la carte graphique ..o 14
Installation du bloc d’alimentation...........ccooceiiiiiiiiiiii e, 15
Caractéristiques du panneau de CONtrOle.........cooeiiiiiiiiie e 16

Connexion du ventilateur ARGB .........ccooiiiiiiiiiiiieceeee e 17



Accessoires

Nom / Quantité Utilisé pour

— Attache)s(sde cable Gestion des cables

[: SO NNNNSNS) B Couvercles deslot PCle [ o 11 slot PCI

X2

Cable répartiteur de venti-
lateur 1a 4
x1

Connecter 4
ventilateurs

(Uniquement pour
MAG FORGE M100R)

@ I]:m Vis de ventilateur Ventilateur avant
x2 120/140 mm

Vis #6-32 10 mm Fixation du plateau de
x2 lecteur
m Vis #6_3;246'5 mm Boulon de la carte mere

@ Vis #6-32 6 mm
@}m X6 PSU / Carte PCle




Elément Nom / Quantité Utilisé pour

@ (]mmm Vis #6-32 5 mm HDD 3.5
xb

Vis M35 mm
x17

Carte meére / SSD

@ D Vis #6—)(332 4mm HDD 3,5




Caractéristiques

Panneau de contrdle 1 a 6 ARGB (3 broches) (MAG FORGE M100R)

MAG FORGE M100R

Avant : 3 x ventilateurs ARGB de 120 mm

Arriére : 1 x ventilateur ARGB de 120 mm
Ventilateurs préinstallés

MAG FORGE M100A

Avant : 3 x ventilateurs RGB automatique de 120 mm
Arriére : 1 x ventilateur RGB automatique de 120 mm

Chassis : Acier (SPCC 0,4/0,45 mm)
Panneau avant : Plastique + Maille fine
Panneau latéral droit : Acier

Matériau MAG FORGE M100R
Panneau latéral gauche : Verre trempé

MAG FORGE M100A
Panneau latéral gauche : Acrylique transparent

Haut : Filtre a poussiére magnétique en PVC

(AERE PEESET Filtre a poussiére inférieur

Haut : 2 x 120 mm
Ventilateurs supportés Avant : 3x 120 mm
Arriére : 1 x 120 mm

2 x supports SSD 2,5”

Baies de stockage 2 x plateaux HDD 35"

Slots d’extension Support 4 slots d’extension

1 x bouton d'alimentation

1 x bouton de réinitialisation

1 x indicateur d'alimentation

1 x entrée microphone

1 x sortie audio

2xUSB 2.0 Type-A

2xUSB 3.2 Gen 1 Type-A

1 x bouton interrupteur LED

(La fonction Interrupteur LED est uniquement disponible sur
MAG FORGE M100R.)

Panneau E/S




Haut : 120/ 240 mm
Radiateurs supportés Avant : 120/ 240 mm
Arriére : 120 mm

Hauteur du refroidisseur de processur : Max 160 mm (6,3 pouces)
Positionnement des Longueur de la carte graphique : Max 300 mm (11,81 pouces)
composants Longueur du bloc d'alimentation : ATX 180 mm (7,09 pouces)

Max 300 mm (11,81 pouces) sans installer la baie de disque dur 3,5”

388 (P) x 200 (L) x 423 (H) mm
15,28 (P) x 7,87 (L) x 16,65 (H) pouces

M-ATX/ITX




Caractéristiques du boitier




Vue de face et de coteé

200 mm 388 mm |
373 mm

wuw gzy




Panneau E/S

©00000000000000000000DO000A00000O0O0GOO
©000000000000000000000000000000D0O0ODODO

Bouton d'alimentation 5. Sortie audio

Bouton de réinitialisation 6. USB 2.0 Type-A

Indicateur d’alimentation 7. USB 3.2 Gen 1 Type-A
8

Bouton interrupteur LED

» LN

Entrée microphone

Description du contréle de Uinterrupteur LED
1. Appuyez brievement une fois sur linterrupteur LED pour changer Ueffet de
LED.

2. Lorsque vous appuyez sur linterrupteur LED et maintenez-le pendant 3
secondes, la LED clignotera une fois en blanc, puis le mode de synchronisation
Mystic Light de la carte mére MSI sera activé. Appuyez brievement une fois pour
revenir au mode de contréle Hub.

3. Pour éteindre la LED, appuyez sur Uinterrupteur LED et maintenez-le pendant 6
secondes.

-
@ Remarque

La fonction Interrupteur LED est uniquement disponible sur MAG FORGE M100R.



Installation du SSD et du disque dur




Ouverture du couvercle latéral gauche et droit

MAG FORGE M100R




MAG FORGE M100A




Installation de la carte mére




Installation de la carte graphique




Installation du bloc d’alimentation




Caractéristiques du panneau de controle

Dimens (m 50 x 30

Type de LED LED RGB adressable DC5V

1 x connecteur de linterrupteur LED

1 x connecteur d'alimentation SATA

1 x connecteur JRAINBOW de la carte mére MSI
6 x connecteurs LED ARGB a 3 broches

Connecteurs

Définition des
broches ARGB

Ground Data +5V

Cycle de Ueffet de LED :
1. Arc-en-ciel

2. Trainée de sept couleurs
3. Dégradé de sept couleurs
4. Violet

5. Blanc

6. Bleu

7. Cyan

8. Vert

9. Jaune

10. Rouge

Effets de LED 11. Arc-en-ciel respiration
12. Rouge respiration

13. Jaune respiration

. Vert respiration

LED) 15. Cyan respiration

16. Bleu respiration

17. Blanc respiration

18. Violet respiration

19. Arc-en-ciel fixe

20. Rouge

21. Jaune

22. Vert

23. Cyan

24.Bleu

25. Blanc

26. Violet

(Appuyez briévement
sur Uinterrupteur 14




Connexion du ventilateur ARGB  (Uniquement pour MAG FORGE M100R)

Ventilateur ARGB Ventilateur ARGB Ventilateur ARGB

DL ()

=1

Connecter au connecteur
JRAINBOW de la carte mére
MSI
Panneau de controle

1a6ARGB

(CO=so

Interrupteur LED

=ImE @ SATA Power

=)\ A

Ventilateur ARGB Ventilateur ARGB Ventilateur ARGB

@ Remarque

e Ce Hub LED supporte jusqu'a 10 appareils MSI ou é appareils non MSI.

SYS_FAN

e Chaque port peut supporter un maximum de 64 LED ARGB, le nombre total de
LED ne peut excéder 128.

 Le dépassement de ces limites peut entrainer laffichage de couleurs anormales,
le clignotement ou l'impossibilité de changer de couleurs des LED ARGB.

R
=)
uvrer NP




	Accessories
	Specification
	Case Features
	Side & Front View
	IO Panel
	SSD & HDD Installation
	Opening the Left & Right Side Cover
	Motherboard Installation
	Graphics Card Installation
	PSU Installation
	Control Board Specification
	ARGB Fan Connection
	Accessories / 配件
	Specification / 產品規格
	Case Features / 機殼特色
	Side & Front View/ 側面和前面
	IO Panel / IO面板
	SSD & HDD Installation/ SSD 和硬碟安裝方式
	Opening the Left & Right Side Cover/ 開啟左右側板
	Motherboard Installation / 安裝主機板
	Graphics Card Installation / 安裝顯示卡
	PSU Installation / 安裝電源供應器
	Control Board Specification / 控制板規格
	ARGB Fan Connection / 連接ARGB 風扇

